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The R now seeks to analyze the nature of using a field for PwYT'p. The NWN in .h3 P2y
teaches by giving a field to wTpn that if someone is w»1pn a field in a time of Y2y, he would redeem
it at the price of 50 Ypw to the 9mn (which is the same as a 713 n22). If there are clefts in the field that
are 10 D'nav deep, or rocks that are 10 0mav tall, they are not measured as part of the field. If they
are less than 10 0'nav, they are measured as part of the field. w4 points out that the n”pa) is that in
a time of Yav, the field is valued at 50 Ypw, no matter the quality. Otherwise, the field is redeemed at
its value. Therefore, we need to know if the clefts and rocks are included in the measurement of a
Imn. Asks the R0y, if the plantable slopes of the clefts and rocks greater than 10 ©'nav are not
viewed as part of the field, then the clefts and rocks should at least be redeemed by themselves! If you
say it needs to be at least a 795 n’a to fit the criteria for 50 Ypw, that goes against the ®n»a which
says that the nWH of NTW in the pyoa (in addition to the 50 Ypw to the 9N measure) teaches that it
applies on any amount of land! Xnn 92 Rapwy 1 answers that the clefts are filled with water, which
makes them not plantable. We can also infer this from the fact that the niwn connects clefts to tall
rocks, which are not plantable.
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If they’re not plantable, then they should be viewed independently of the field even if they are
less than 10 n'nav! They are called cracks and spines of the ground, meaning they are viewed as a
normal part of the field.
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When the nawn says 9210 nyw3a, it means a time when Y2y is in practice, as
opposed to Yavn nwa which would mean the redemption happened in a Yay year
itself. If this were the case, it would be subject to the np9Ynn between 17 and YRNY
in .12 129, where one opinion (9R1W) says that the wTpn does not take effect, and
the other opinion (21) says that it does take effect, and to redeem it you would need
to do the regular 179 of 50 Ypw to the 9N, Since the Xo77) of Mwa would be against
SRINWY, the XD’ must be nywa.

"oy 11IR PR” 0™

"7 (in 1P27Y) explains that we say the rocks and clefts aren’t measured as part
of the field to be subject to the 1179 of 50 Ypw to the 9mn. To clarify this point,
maoin says they should still be redeemed at their market value. We can’t say that they
aren’t redeemed at all, because they’re no worse than a pit, vat, or dovecote. This is
because the .RY RIN2 X221 MWN says that when you are w»Tpn a field, it includes all
these things, and 9 yM 5 rocks and clefts (which are part of the field).
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"9 explained that the rocks and clefts should be measured as they are, and
not by their slope since he is using the land of the clefts for planting. However, the
AP 2”a n”aw1 elaborates that the X713 is asking as follows: “Granted that they are not
viewed as part of the land regarding wpn,” meaning that he doesn’t have to measure
the field with these rocks and clefts since they are viewed as their own “field,” and he
can redeem one without the other (like being W»*Tpn 2 separate fields). However, “they
should be w1pn,” meaning if he is redeeming them by themselves, they should have
the same 1awn of 50 Ypw to the 9Nt This is how the n”aw1 understands, but Mavin
disagrees because the n”aw~ implies that if you are w»1pn one field without clefts, it
must be fully redeemed. This isn’t true, as the :3 X913 says explicitly. Therefore, »"v4
is more 7anon.

3 IRIN MNY 1998 197 IR” "™

The R established that the clefts and rocks are not plantable, and asked that
they should be viewed independently of the field, even if they are less than 10 n'nav.
However, maoin asks that the w5 of the XNy seems strange. When the X713 uses
208, it usually implies an ®nYWa NINR R, i.e., the X103 works according to one way
but not the other. Yet, in our case, we don’t have an Xn5wa nanR *X. Even if the rocks
weren’t filled with water, we would still think they should be viewed independently
from the field! Therefore the 5 explains that the question would make sense if we
were not 7°apn on the rocks being ny»tH 187 (because they’re insignificant, so we
don’t mind them being viewed as part of the field), but now that we are Tapn, the
question of why smaller ones are not viewed independently of the field is a good
question (since they are not plantable, they should be viewed as distinct from the field).
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When selling a field, the :2p Rna R2a Nawn says that clefts and rocks 10 0Nav or greater are
not included in the measurement of the field, but they are included if they are less than 10 n'nav. In
this case, XN 92 X2,y 1 says they are not included in the field even if they are not filled with water.
NR99 19 explains that this is so because when people buy a field, they don’t want it broken up by various
obstacles.

What is the 11 by pwyTp? Are clefts and rocks 10 DoV or greater (that are not filled with
water) viewed as part of the field (like wTpn) or not (like a sale)? It seems that we would view it like
wTpn because the husband can claim that he will exert himself to work the more difficult parts of the
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field. It can’t be said that he doesn’t own the entire 115 n»a (when it is comprised of clefts and rocks),
as we see from the D7 of N1 that such a field is called a 715 nra.
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The nwn continues its discussion of 0*RIn by generalizing to the 17 of 12187 7123 T3 "2 *RIN.
According to 9'8n »29, all o*Ran must follow this rubric, namely (as 94 explains) that the *Rin must
be “doubled” (said in both the positive and the negative). If not, then the »®in is Y02 and the nwyn is
still o»p, as w1 tells us. The underlying principle here is that 185 ymw nnR *R 10 Y591, we cannot
infer the negative from the positive. The n°&X for this opinion is that when 11°27 nwn required that
T3 12 and 12189 02 fight with the rest of Y989’ "1 to inherit 179°0 92y, he said both the positive (if
you will cross and fight then you will inherit) and the negative (if you will not cross and fight then you
will inherit in 1»35 paR). However, Y8903 12 RN »27 says this is not the rule, but the exception. We
don’t require 0*RIn to be like 32187 7323y 73 )2 *Ran, but 1227 "N had to say both the positive and
the negative here because otherwise it would have been thought that 12183 32y T2 22 shouldn’t even
inherit land in 115 pIR. According to this reasoning, »"3 understands that the npnn is only
regarding the 17 of %195 *Rin because we’re able to infer the negative from the positive. Regarding the
other 2 017 of NWYNY TP *RIN (stating the condition before the action) and 1855 bTp 10 (stating
the positive before the negative), both opinions agree that they are required.
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mavIin begins by quoting »"»9, concluding with *”w9’s understanding that the
nponn in the mwn is only regarding 5195 *Ran (with the more notable exclusion for
our purposes being nwyn5 oTp *Rin). The problem with this understanding is that the
RI73 in TR YN K22 says that '8N 227 is the opinion that requires NWyn5 nTp RN,
which connotes that it’s not agreed upon by everyone (namely Y8913 j2 R3n »29)!
Therefore, maoin thinks that the npibnn is on the requirement of all conditions of
J2IRT 222) T3 N2 ORIN.

[The 71w Mmavin adds that HX'513 12 R17an 27 argues that %195 *Ran is not
necessary in general, but we need it here because we assume that had nwn not stated
the negative explicitly, we would think that j21%3 »32) ) »22 wouldn’t even inherit in
13 PIR. According to w9, this is because they rejected the land. However, n™
disagrees,] and the proper understanding is that obviously, had they not fought they
wouldn’t inherit in 7Y% Y98 where they had a stronger claim, but even in j»15 PR
where they didn’t have a strong claim if they would have fought, | would have thought
that nevertheless their claim would be weakened if they did not fight. Therefore, nwn
needed to explicitly state through the repetition that they would still inherit land in
V1 PIR.
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The Rn) begins by asking that YX'5n3 12 R33N 27 asked a good question on 781 27, What
would 981 »27 respond? If the proa was truly coming to teach that 9195 'Ran was only necessary in
this case, then it would have said "035 102 NRNM 172y RS ORY”. Why does it add 1»15 yIRa? Going
onto :RD, the X113 answers that the extra 115 pIR2a teaches the need for %195 *Ran in 1Y 1NN Y.
How would Y8913 12 83730 27 respond? Had the N9 not said jv15 par3a, | would have thought that
D292 NN (should they not fulfill the *Rin) would refer to 7YY paR, but they wouldn’t inherit a
right to v IR at all. »»4 clarifies that they would only inherit the part of Ty5) that they already
conquered, and have to divide it amongst the other n»vaw. The P10 didn’t need to say they wouldn’t
inherit 7Y5) yIR for themselves because R32an »23 holds we can infer the negative from the positive.
7'8Rn »27 would in turn respond that D351n2 implies anywhere that they already have (namely, yIR
1v12). Therefore, Y4 explains that the 7105 repeating 115 IR teaches that they WON’T inherit IR
7YY in its entirety if they don’t fight, which needed to be said explicitly.
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"9 explained within Y8913 12 R1an »27 that if 12187 323 73 712 don’t fight,
we would think that they would divide 793 IR among the other n»aw, but they
wouldn’t inherit in 1»3> pIR because they didn’t help to conquer it. Therefore, the
7109 adds 135 YIR2 to teach us that they will nevertheless inherit in j»33 y9R8. However,
this is difficult to understand, as why should they inherit the land they didn’t help to
conquer? [Additionally, this does not compare to the Ywn that we will see later.]
Therefore, the " interprets the P09 as mandating that j2383 »32y ) 72 LEAD the
Jews into battle in 1»33 IR, and only then will they inherit 7p53 paR. If they don’t lead
the battle, then we would think they wouldn’t inherit in 15 p3R at all, so the p1oa
needs to tell us that they will nevertheless inherit in 1v13 yIN.

This suggestion is also difficult; why should j2187 »32y ) "2 be penalized by
not inheriting 115 3R if they were to fight equally with everyone else, as opposed to
leading the battle? We might think that by making this proposition, the 12187 32y 72 12
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withdrew their rights to 1»35 YR had they not fought. Therefore, the 105 adds yaRa
1915 to teach that they nevertheless inherit in 115 IR as well as in TY53 IR,

If 1v35 paR2a teaches us that they inherit both in 115 IR and in 7YY pIR, why
did the o9 also have to say 035112 1tnNR1? Once we know they will inherit in  pI8
1915 (which they withdrew from), it’s clear they’d inherit in 7p53 a8 (which they did
not withdraw from)! We need both because the opposite X710 can be suggested:
Maybe they should inherit in j»15 IR where they had a weaker claim, but they should
not inherit in 7Y% IR where they had a strong claim as a vap! Therefore, the p10a
needs to include both D331n2 1NRI for TYYI PR, as well as 10 pINa.
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5RY1) 12 RI7IN 27 proceeds to bring a Ywn to illustrate his opinion. A father says that his son
1287 should inherit a field, his son 1YYnW should inherit another field, and his son "5 should give 200
1t and only then inherit a field. If he doesn’t give the money, he will inherit a share in the first two
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fields with his brothers. What caused "% to inherit among the other brothers is that the condition was
993, otherwise he wouldn’t get anything.

However, it seems that the Ywn is not like the n1wn, because the nawn said that if not for the
nY93, they would not inherit EVEN 135 paR, which would mean that the assumption would be they
wouldn’t inherit 793 paR either. Therefore, the n%93 includes both 115 Y38 and 7v%) yIR. However,
the Rn»12 of the Ywn said that the nY295 causes "Y to inherit in the two fields, meaning the n%95 of
1227 nwn only teaches about 1»33 PR (the two fields of the other brothers), but not 7Y yIR (the
third field), because they would still inherit their portion of 7Y paR that they shared with the other
Dvaw! It’s not a question, as the opinion of YRYN) j2 R11IN »27 in the N1wN was before '8N 11
explained that the »105 could have just said ©331n2 PR and that we learn 9195 *Rin from pIRa
1v13. In that case, it was thought that the n%’95 worked for 15 I8 AND 793 par. Now that »1n
RN clarified that YR refers to 1v15 IR already and R1’an »27 responded that yinRay would refer
to inheriting TY53 IR with the rest of the D»vaw, it makes sense that in the Swn, the third brother
would still have an inheritance in the rest of the property.
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PN 237 said that normally we require 5195 >'8in, while 8372n 227 said it was needed specifically for
this case. The 81122 now goes through many instances in 77211 that seem to prove one way or the other:

It makes sense to say like 1°8n 27 because when speaking to 1’p, the pyoa shows that n”apn
was 9913 the »Ran. The ,oa says “if you do naywn, then you will get reward. However, if you don’t
do naywn, then sin (i.e., punishment) is crouching at the door.” As »"»4 explains, had it not been for
the N9, we would say that 1>p should get rewarded even if he doesn’t do naywn, which is obviously
untenable! Rather, it’s not a good proof, because without the n%93, you might think that j>p may not
get rewarded, but he wouldn’t get punished either.
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The 813 offers a second proof for 7°8n »27. When nn1ar had 2198 find a wife for pny, he
says that if 91»"9% were to go to nn1ar’s family and they reject his offer, he would be absolved from
his ny1aw. According to w1, this means 9°®n 27 understands that now he can take a wife from the
1010 M2 It makes sense for 79'Rn 23 that DH7aR needed to say this explicitly, but why does R17an »a9
think it’s necessary? Had pnaaRr only said that q91y'58 should take a wife from his family, we would
think that he should take her even against the family’s will. Therefore, nnaaR had to say explicitly that
if they disagree, he is absolved and doesn’t need to bring her back. Given this, why does nnaR say
earlier that 91y'9R is absolved if sfe doesn’t want to come back? We might otherwise think he should
have to bring her even against her will if the family agrees. Therefore, bn1aR said not to bring her if
she or her family disagrees, and he will be absolved from his nyyaw.

mavin
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maoin asks that seemingly, this story has nothing to do with the np5nn in
our Mwn, as this wasn’t on7ar doing something for 91»’YR contingent upon a *Rin.
Rather, he had a mission to bring back a wife from nn9ar’s family. Had nhvaR not
absolved him, we would have said he would be over the nyyaw!

Additionally, »"w4 is difficult to understand, as he implies that had the family
not consented to give the woman over, then he would be absolved from the nyyaw
and thus be allowed to take a woman from j»15> n13, but this cannot be the case [as
the DY MavIN explains, the assumption is that RN »29’s suggestion had the pyoa
not explicitly said 'nY8n npan R (of 71Y'YR bringing the woman against her will) is
irrelevant to the premise of 9981 »27 (that 91YYR can go to 1¥13 M13)]! Therefore, the
" explains the X913 as follows: According to 9'8n »29, you can’t infer the negative
from the positive. Even though it should be 9anon that the person will only do the
action if the *Rin was fulfilled, nevertheless it needs to be said explicitly. So too, even
though it should be 7anon that the ny1aw would not require 91’58 to take the woman
against the will of the family, it nevertheless had to be said explicitly. This all makes
sense. However, being that R1°1n »29 agrees with the X920, it would then follow that
the exemption from the ny1aw did not need to be said explicitly! Why did the n9n
need to say it? Therefore, pnx’ *29 explains that there were 2 m»aw, one to take a
wife from the family, and one not to take from jv15 nna (if the family refuses to give
the woman over). We can infer this from the fact that bn92aR says “You will be absolved
from THIS ny»aw” (and you don’t need to take her against the will of the family),
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implying that there is another ny12w which you are not absolved from (taking from the
115 M3).
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The R9n) offers a third proof for 9'8n a3, The 0103 say that if the Jews follow the NN,
then they will get n15792. However, if they %" don’t follow the n7n, they will get n155p. For 9/8n 117,
it makes sense that the N7 n needed to state the mY%p. Why does R17an »a1 find it necessary? Similar
to what we answered by 1°p, had the 17 n not stated the m%%p, one might think that failure to follow
the N7 n would only result in a lack of reward, but there wouldn’t be punishment. Therefore, the m%%p
needed to be stated explicitly.

The »n) offers yet another proof for 9'8n »23. The D'pIva in YW’ say that if the Jews follow
the NN, then they will eat from the good of the land. However, if they 5”1 rebel, then they will be
devoured by the sword (literally, they will devour the sword. The ®3n) will explain this.) It makes sense
to state the negative according to 9°8n »a9, but why does X17an 721 find it necessary? Similar to what
we just said, we’d assume that if they rebel they wouldn’t get the good but they wouldn’t get the bad
either, therefore the P109 needs to say 19o8n 29n. Going onto .20, the X713 asks what the 7105 means
by saying “You will devour the sword.” X213 explains that it means they will eat food that’s harmful
like the sword, namely coarse salt, hard barley bread, and onions.




